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Devinder Sengupta has an Indian name and he looks Indian, but he's British.

His parents came to Britain in 1972 because they had been thrown out of Uganda,
Uganda is a country In Africa and |ots of Indians and Pakistanis once lved thera.
Their grandparents had been taken there by British frms.

They had been employed as office workers and policemen.

In 1971 1di Amin Dada was elected as the new President of Uganda.

Im 1972 the Indians and Pakistanis were told that they must leave the country.

I Britain Devinder grew up with the local kids and went to a local sthool.

He has always been acceptad In his nelghbourhood.

At the comprehensive school Devinder was Called nasty names by some kids.,
They were soon stopped by Devinder's friends, But things have become worse lately,
Masty messages have been fprayved on the walls of his house.

Dustbins have been overturned and unpleasant phone calls have een made.
“These things werer't done by local people,” Devinder sald.

The sprayers were seen by Devinder's nelghbours.

They called the police and two of the sprayers were caught.

They were <kinheads from another part of town. They had been told to do [t
Devinder i= optimistic: *| was helped by all my neighbours. The skinheads' plan
didn’t work. They were the outsiders!®

&} Underline all the past passive forms in the text. (There are sixteeni)

B Devinder's parents carme to Britain from ...
O Inddfa & Ugamda & Pukistan

@ The people in Devinder's nelghbourhood are ...
(D rasty & unpleasant (B friendly

) The nasty messoages on the walls of Devinder's house were written with ...
D a spray can & a palntbrush Da felt Hip

(3 A person who Is oplmiste @s ..
(D tolerant D sad D hopeful
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ru Aufgabe (3)

Ldsungsseita
Nor beratzen, wenn oo Milfe Dreachsd,

@ Doloe Aufgabon stehen in den Zoflen 2o bis 28, Aufgabe B ist cine Gammatikaufgabe.
& . Zeile 2o Im Tead sind 16 Passiviormen, die du untersireichen sclist. Wie erkennst du sie?
@ Es sind Passiviormen deor Vengangenhok. Es gitt dead Arten. Sic worden so gebildet:

Sitrypler prsits was/were + Partizip Perfelt: r. B. was ekected (siohe Zeik €)

Present perfect:  has/have been + Partizip Parfakt: = B. howe been sproyed [Zeile 13)
Past perfect: hod been + Partizip Porfokt: = B. had been thrown out of (Zolie 2)

@ Fir die anderen Aufgaben musst du den Text verstehen, Worum gehed os im Text?
o Um
Devinider Sengupta = die Flucht seincr Eitem aws Uganda = sede Hachbarschak - Rassenhass
@ Un GG 6 O riddig beantworton zu kBnnen, nimn dir immer nwrn dine fage ver und lies
dinm jewils den ganedn ok, Du Sndest i Antwort immar im Text.
@ IEcr findest du die richtigen Lasungen: Bk Zeile 2; @k Zeile 9 ) Zeile 12; @ Zeile 8, 19
@ Wenn du Wortschatzprobiiome Fast, lies Rier die Uborsetzuyngen:
Z 1 o look Indlan (= ssehon wie cln Inder);
Z 2t o throw somebody ot of 0 covntry (= jemanden aus einem Land hinawswefen);
L 3 once (= cinmal;
L 5 loemgpioy soinebody a5 @ . (= pdnddn besthihgen, jemandén Girgtelien aks .2
Z & loeled as .. (= emanden wihlen als .. );
Z B to grow up (= dufwachson);
Z gt o owept sotrebody (= jomanden als zugebtidg annchmen);
L ux  commprehensive school (= Gesamischade], masty (= widerfich);
L au  lately (= in lotzter Zeik);
L 12: mwssoge (= Hachiiche), fo spray (= spriben);
L 13 dustiwn (= Mdltenng), fo overtwrm (= umwerfen, vmkippen);
Z e o cateh soinebody (= jemandon abfaogen, jemanden gefangen nohimen);
Z 18 o be optimistic (= optimistisch soin)k
Lo R dichnt work (= @5 funkfioniene nche), outsider (= AuBarsaitern).
@  Weitera Hilfen findest du auf den Lemkdrtchen 17-24.
@ Losungen:

O (2 3) bad been thrown outof, (2. 4) had been foken, (2. shbad been emploped,
O B) wus eleched, (Z. 7] were hold, (Z9) hog been adoephed, (2 10) was culled,
(2. 1) were stopped, (2, 12) have beer sprayed, (2. 13) hove been overlfuraed - have been
made, (L 14) weten"! done, (1. 18] were seon, 2. 16]) wete caught, (L. 17) had been tokd fo,

(2. 18) e belped
L& e
e a

G
Xepast du den Unterschied swischen Aktly und Possiv? u;&
Gwitn Aktiv betrachtet man das Gescheben B8
von der hondelhden Person gus, '*'-;-.
beim Fassiv vorr der erfeidenden™ Person. 2, B, L
Aktte:  jim helped me.
Peraghvy | | wvas hefped by i,
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